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i B ait e P e —_ = R | g [BESEAN = [EUR F VAVID £/ I\ Fuh Fh | Eo v THARE | Brss 75
EEI 16, 750 £ 8, 550 750 750 750 750 750 750 750 700 750 750 750
bd ZR 7,300 & 4, 850 250 200 250 250 250 250 250 250 250 250
B 15, 250 £ 8, 650 600 600 600 600 600 600 600 600 600 600 600
P A o 19,200 &| 19,200
T/ Sy 19,084 &| 10,444 864 864 864 864 864 864 864 864 864 864
WLy 146 1 6 14 14 14 14 14 14 14 14 14 14
W 2 L7 (240m0) 120 15 120
AR T LK (490m0) 93,192 & 1,128 1,680 | 1,680 | 1,680 | 1,680 | 1,680 | 1,680 | 1,680 | 1,680 | 1,680 | 1,680 | 1,704 73, 560
BRENHGL (EAHHT—)L) 148 1
oKW bE 10 44 1 1 1 1 1 1 1 1 1 1
FX/YFa- 1,500 & 1, 380 120
B3y Fa— 3,000 & 2,760 180 60
3T 2 — X 38,000 A&] 36, 200 1, 800
X7y k 6, 060 74 6, 060
BLDYSE (TN 108 48 108
157 (1008) 10 %8 10
vy M7 4 v a 208A) 1,350 4 1, 350
BN = — k 100 & 100
T A 0 3,000 1 3, 000
~ A 292,900 #| 290, 900 2, 000
Tova—v (BT 619 0 520 99
EEHTD 70 ¥ 70
7o Af AL —)L R 60 60
= U VP 3,500 #& 3, 500
w2 (ZEFLH) 13,020 #¢| 13,020
MBieo (BE2H) 1, 136 1, 136
A 10,320 #| 10, 320
TR NS 30 { 24 3 3
Ity harvna 10 & 1 1 1 1 1 1 1 1 1 1
Ty FAR N 150 A 15 15 15 15 15 15 15 15 15 15
M FLIR 165 A 15 15 15 15 15 15 15 15 15 15 15
VG Y i FL 100 A 100
¥l 3,810 #& 960 270 270 370 370 120 210 370 300 170 360 40
B55 S 50 A 5 5 5 5 5 5 5 5 5 5
KERAARE Y b (50A%5) 20 #. 20
ITHDnE T T (504) 13,500 A| 13,500
7T b 1 K 1
T—— k 1,060 #% 255 65 100 65 65 100 85 65 100 100 60
KER KL 10 2K 1 1 1 1 1 1 1 1 1 1
EEER 37 & 27 1 1 1 1 1 1 1 1 1 1
i)+ 3 10 5 10
EAHPURE 5 6 & 6
ass 29 & 19 1 1 1 1 1 1 1 1 1 1
28 16 & 6 10
1 5 fH58 10 & 1 1 1 1 1 1 1 1 1 1
HH~Xy K 9 5 5 4
BAR—NXy R 50 & 50
Hx<vw h (2m) 50 ¥ 50
e~ b (20m) 10 K 10
&% A L 30 = 1 1 18 1 1 1 1 1 1 1 1 1 1
~ A=A L - T U] 219 = 20 19 16 32 15 11 13 13 13 13 15 13 13 13
A= T A L (KRIK) 10 & 1 1 1 1 1 1 1 1 1 1
B—H2 7L FA L (GHEEL) 1,000 = 100 100 100 100 100 100 100 100 100 100
HE# 7 v 7 hA L = 4
HGBER—IL AL 6 & 6
ALy b= 38— (170m%) 2,688 & 2, 688
S« JER ST 30 X 3 3 3 3 3 3 3 3 3 3
A— & 7 L& (120, 600mAh) 10 & 10
ENA NNy TV —F v b 10 10
KRS rhartr k 1A 1
AT 10 A 1 1 1 1 1 1 1 1 1 1
Al BER R > B 10 & 1 1 1 1 1 1 1 1 1 1
AR ER R > N (EER = 1 1 1 1
3 Bk 11 A 1 1 1 1 1 1 1 1 1 1 1
ENABEDY T F (DX oFR) 20 = 10 1 1 1 1 1 1 1 1 1 1
BN A—F—> gy (DX o FR) 10 & 1 1 1 1 1 1 1 1 1 1
OB Y 2 25 L (PPS) 400 400




